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1. std::vector: %x—'.l HH%% L-l'E|'L|=|HL-| |-_-|'.

[C++] ZYEIAENM 2E|E 0| Xt AL E|= g4 504!


https://discord.gg/yDWrPjqv

std::vector<int> v = {1, 2, 3, 4, 5};

2. std: :array . 'I i7| HHOE:'% L|-E|-'-|:"*L| I:I'-

std::array<int, 5> a = {1, 2, 3, 4, 5},

3. std: :string . —E‘xl'%% L|-E|"—,=,HL_||:|'_

std::string s = "Hello, World!";

4. std:iomap : 7|-34 @S MESHE Atz S LIEFLICE

std: :map<std::string, int> m;
m["apple"] = 1;

5. std::pair: T QAE SO A StLIS| MO Z OtEL|LCT.

std::pair<int, std::string> p = {1, "apple"};

std::set<int> s = {1, 2, 3, 4, 5};

7. std: :unordered_map - 9'-5;'[ Aé,l'% X'PCE;I'-5|'E 6HA| Eﬂ0|§% I-‘I'I-:-|'||'=I'|I|-—| El’.

std: :unordered_map<std::string, int> m;
m["apple"] = 1;

8. std::unordered_set : S HA Rigl ﬂ_ﬂ'% |——|'E|'LH HA| E'”Ol == L—l'El'Ll':I'lll—l E-l'.

rr

std::unordered_set<int> s = {1, 2, 3, 4, 5};

9. std::queue: ﬁ'a |'E|'IE}|IL—|E|'.
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std: :queue<int> q;
q.push(1);

10. std: :priority_queue . —?—f_‘f'_\“?’l ﬁ'% I—l'El'IT:I]I L—l E—l’.

std::priority_queue<int> pq;
pg.push(1);

11. std::stack: ﬁEﬁH% Ll'El'LuHLlEl'.

std::stack<int> st;
st.push(1);

12, std::vist : YIS AH 2[AEE LIEFHLICE
std::list<int> 1 = {1, 2, 3, 4, 5};
13. std::deque : FH BN & A AH|T ItST 2| AEE LIEFHL|CE

std::deque<int> dq = {1, 2, 3, 4, 5};

14. std::cin: E‘?'_S %IE!% t.':*%'—l':f.

15. std::cout: .:E‘;.'_:‘ %Eﬂ.% EI-L-lEI'-

int x = 1;
std::cout << x << std::endl;

16. std::endl: 7H%I(§ Hf%)% LIEFREL|CH,

std::cout << "Hello, World!" << std::endl;
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17. std: isort() - E_"-'é -6|;|+_JIK_OI:I L'll:l'-

std::vector<int> v = {5, 2, 3, 1, 4};
std::sort(v.begin(), v.end());

18. std::reverse() : —i—*‘l% If'_l'EHE ‘?‘lﬂf -cg#—?:“—l[l'-

std::vector<int> v = {1, 2, 3, 4, 5};
std::reverse(v.begin(), v.end());

19. std: :min_element() . ZC—'ﬁﬂ% j;cql'E EI'—JF?:E L—l El‘.

std::vector<int> v = {5, 2, 3, 1, 4};
auto min_value = *std::min_element(v.begin(), v.end());

20. std: :max_element () : -j-c—l EHEI% ;§<I'E -6|;|I-_¢_|O:I |—| E-l'.

std::vector<int> v = {5, 2, 3, 1, 4};
auto max_value = *std::max_element(v.begin(), v.end());
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21. std::lower bound() : O|I|_| EI'A—I}IQE EIO-I 31 O|é,|'0| X'I% Ll'El'Ll'E ‘?’lxlg j7c<|-

LICt.

std::vector<int> v = {1, 2, 4, 4, 5, 6};
auto lower = std::lower_bound(v.begin(), v.end(), 4);

22. std: :upper_bound() O|I|_| EEIFA_lHQE %ng ﬁEEf E‘ ﬁlol X'I% L'I'El'l- E ‘?‘lxlg %cql-E EI'

= LICk.

std::vector<int> v = {1, 2, 4, 4, 5, 6};
auto upper = std::upper_bound(v.begin(), v.end(), 4);

23. std: :unique() - t|':|-|‘cr>‘| LHO”A-I %EEJ '?_—Lﬁ% I‘||7'|§'L||:|',

std::vector<int> v = {1, 1, 2, 2, 3, 3};
auto last = std::unique(v.begin(), v.end());
v.erase(last, v.end());
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24. std:rind() - HEl LM £ 20| M2 SE5H= ?IXIE HSLICH

std::vector<int> v = {1, 2, 3, 4, 5};
auto result = std::find(v.begin(), v.end(), 3);
if (result !'= v.end()) {
std::cout << "Found" << std::endl;
} else {
std::cout << "Not Found" << std::endl;

25. std::next permutation() . _ch_o.lxl_| %"—?—|0ﬂ I:H-‘Ijl'l E—l’% _i_oed% ’g“é"?;*l-llif.

std::vector<int> v = {1, 2, 3};
do {
for (int 1 : v) {
std::cout << i <<

26. std: raccumulate() . %*%’—l LH9—| E% R_ﬁ%QJ Q% 7:”A|_I'-6JL|EI'

std::vector<int> v = {1, 2, 3, 4, 5};
int sum = std::accumulate(v.begin(), v.end(), ©); // sum == 15

27. std:fiti) : E™ Helof cHsl gt2 AHSLICT.

std: :vector<int> v(5);
std::fill(v.begin(), v.end(), 1); // v: {1, 1, 1, 1, 1}

28. std: :count() . ‘?’l LHO”kl %é ﬂ9| 7H¢% ﬂ“—ll:l'-

std::vector<int> v = {1, 1, 2, 2, 3, 3};
int count = std::count(v.begin(), v.end(), 1); // count == 2

29. std::swap() : —I|:— Ilj_:|_¢_9'| ﬂ% jl_"sa;l-'o;l'L_|E_|-_

int a =
int b = 2;
std::swap(a, b); // a==2, b=1

|
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30. std: :make_pair() . 9 =HO'| paw% I'EL—“:I'
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auto p = std::make_pair(1, 'a'); // p: (1, 'a')

31. std::tie() . OZIE'l H|_:|_J|k_

i
rot

Ol Y = AUA LI

std::pair<int, char> p = std::make_pair(1, 'a');

int a;
char b;
std::tie(a, b) =p; // a==1, b == 'a'

32. std::stoi() : —E—Xf%‘% ng%k_g E%EI-L“:I'-

std::string s = "123";
int num = std::stoi(s); // num == 123

33. std: ito_string() - g#% —E—Xl'oadi ﬁ%-ﬂ-l—l[lﬂ

int num = 123;
std::string s = std::to_string(num); // s == "123"

34. std::max() - —'|:— A % I:-l é EI

fujo

dretefL|Ct,

[y = |

int a = 1;
int b = 2;
int max_val = std::max(a, b); // max_val == 2

35. std: imin() . —'|:— A % E-'I ’5.* ﬂ% Hn_l'é.;l'-o;l-l—ltl'-

rlo

int a = 1;
int b = 2;
int min_val = std::min(a, b); // min_val == 1

36. std: ipow() . 7'|EX'I|E_% ﬁlﬂ'gl—ll:l'

double base = 2.0;
int exponent = 3;
double result = std::pow(base, exponent); // result == 8.0

37. std: isqrt() - I'”'EE% 71|A|_|'-6|;|+L—|E|'-
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double num = 4.0;
double result = std::sqrt(num); // result == 2.0

38. std: rabs() - IE*EHH% 7:”A|_I'-6JL|EI'

int num = -1;
int abs_val = std::abs(num); // abs_val == 1

39. std::round() : t.'_*%_‘.':!a ﬂ-% HI‘E—"I'EI'L—l L_-I'-

double num = 3.6;
double rounded = std::round(num); // rounded == 4.0

mio

40. std::ceil() : %FFI:!_C.’.__I' EI HI_I‘Q"O;FLJEL

double num = 3.1;
double ceiled = std::ceil(num); // ceiled == 4.0

41. std: :floor() . LHEé!-én;l' ﬂ% Hn_I'Q'EI-Lll:-l'-

double num = 3.9;
double floored = std::floor(num); // floored == 3.0

42. std::stod() : —E—Xf%‘% doublez2 |:|5§|_|"C;|'L| I:I'-

std::string s = "3.14";
double num = std::stod(s); // num == 3.14

43, std: :regex_match() , std::regex_search() . 78'1_1" E_é_._:lé!% A|"g'_5|'0:| ‘E‘XI'OE:'O”H HH'.E_-I%
=1

std::string s = "Hello, World!";
std::regex e ("(\\\\w+)\\\\W+(\\\\w+)");
bool match = std::regex_match(s, e); // match == true

A

44. stq: :nth_element() : n‘?_WH _Cll|i|9_| %i% 7;c<|'0|' E,EE:'E.*LIEL
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std::vector<int>v = {5, 6, 4, 3, 2, 6, 7, 9, 3};
std::nth_element(v.begin(), v.begin() + v.size()/2, v.end());

45, std: :push_heap() , std::pop_heap() - _0;! E*._I'% —)lk—-é-oH-o;!-Lll:I'-

std::vector<int> v = {10, 20, 30, 5, 15},

std: :make_heap(v.begin(), v.end());

std::cout << "initial max heap : " << v.front() << std::endl;
std: :pop_heap(v.begin(), v.end());

v.pop_back();

std::cout << "max heap after pop : " << v.front() << std::endl;

46. std::distance() 1 T HHEX} ALO|Q] H2|E HhetetL|Ct,

std::vector<int> v = {3, 1, 4, 1, 5},
std::cout << "distance(first, last): " << std::distance(v.begin(), v.end()) <<
"\\n';

47. std: :next() , std::prev() . Hl_l.gxl-% _6;" E|_|'71| %!'QE EEE "|:’|§ Ol%klﬂl—ll:l'.

std::vector<int> v = {1, 2, 3, 4, 5};
auto it = v.begin();

it = std::next(it, 2); // itO| ZI2|7|= #2 3
it = std::prev(it, 1); // itO| 7I2I7le 2 2

48. std: ;iota() - Eg %-I'?‘lgl ‘i‘xl'% x|'|‘cl)’-| L‘éjﬁl—ll:l'

std::vector<int> v(5);
std::iota(v.begin(), v.end(), 1); // v: {1, 2, 3, 4, 5}

49, std::set intersection() . —'|:— ﬂoul'gl I’.ﬂ °|=.|'

o

Al LrgfLct.

[ = |

std::vector<int> vi1 = {1, 2, 3, 4, 5};

std::vector<int> v2 = {4, 5, 6, 7, 8};

std: :vector<int> v_intersection;

std::set_intersection(vil.begin(), vi.end(), v2.begin(), v2.end(), std::back insert
er(v_intersection));

// v_intersection: {4, 5}

50. std::set_union() : LS ﬂ-ﬂ'gl EFEEI'% 71|*|_|'-<|5=||'L’| L_-l'-
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std::vector<int> v1 = {1, 2, 3, 4, 5};

std::vector<int> v2 = {4, 5, 6, 7, 8};

std::vector<int> v_union;

std::set_union(vl.begin(), vi.end(), v2.begin(), v2.end(), std::back_inserter(v_un
ion));

// v_union: {1, 2, 3, 4, 5, 6, 7, 8}
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